

TERMINATION OF LINEAR REWRITING SYSTEMS*

- preliminary version -

Nachum Dershowitz
Department of Computer Science
University of Illinois
Urbana, Illinois 61801
U.S.A.

ABSTRACT

Limitations, such as right-linearity, on the form of rules in a term-rewriting system are shown to restrict the class of derivations that must be considered when determining whether or not the system terminates for all inputs. These restricted derivations, termed "chains", are obtained by attempting to apply rules to the final terms of derivations that issue from the left-hand side of rules. Similar limitations are shown to guarantee that combining two terminating systems yields a terminating system.

I. INTRODUCTION

A term-rewriting system S over a set of terms T is a program expressed as a finite set of rewrite rules, each of the form $\lambda_1[\bar{\alpha}] \rightarrow r_1[\bar{\alpha}]$, where the left-hand side $\lambda_1[\bar{\alpha}]$ and the right-hand side $r_1[\bar{\alpha}]$ are open terms, i.e. terms constructed from operators (function symbols) and from variables $\bar{\alpha}$ ranging over T . For example,

$$\{ (\alpha+\beta)+\gamma \rightarrow \alpha+(\beta+\gamma) \}$$

is a one-rule term-rewriting system over the set of terms constructed from natural numbers and the binary operator "+". The variables α , β , and γ represent arbitrary subterms.

The program is executed by repeatedly applying rules to some given initial term. A rule of the form $\lambda_1[\bar{\alpha}] \rightarrow r_1[\bar{\alpha}]$ may be applied to a (closed or open) term t of T if t contains a subterm v that is an instance of ("matches") the pattern $\lambda_1[\bar{\alpha}]$, i.e. $v = \lambda_1[\bar{s}]$ with (possibly open) terms \bar{s} of T substituted for the variables $\bar{\alpha}$. Multiple occurrences of the same variable α_j in λ_1 must be matched by occurrences of the same subterm s_j in v . The rule is applied to the term t by replacing its

*Research supported in part by the National Science Foundation under Grant MCS 79-04897.

subterm v with the term $r_1[\bar{s}]$. For example, applying the rule $(\alpha+\beta)+\gamma \rightarrow \alpha+(\beta+\gamma)$ to the term $(a+b)+((c+d)+e)$ at the subterm $(c+d)+e$ yields the new term $(a+b)+(c+(d+e))$. (The square-bracket notation $t=u[s_1, \dots, s_n]$ means that the term t can be parsed into a tree of operators u connecting distinct occurrences of the subterms s_1, \dots, s_n . We assume that the set of terms T is closed under the "subterm" operation, i.e. any subterm of a term in T is also a term in T .)

The choice of which rule to apply is made nondeterministically from amongst the applicable rules; similarly, the choice of which subterm to apply a rule to is nondeterministic. We write $t \Rightarrow_S t'$ to indicate that the term $t' \in T$ may be derived from the term $t \in T$ by a single application of some rule in S . (The subscript S is sometimes left implicit.)

For example, the system $\{(\alpha+\beta)+\gamma \rightarrow \alpha+(\beta+\gamma)\}$ reparenthesizes a summation by associating to the right. Applying that system to the term $t=(a+b)+((c+d)+e)$, yields $t \Rightarrow a+(b+((c+d)+e)) \Rightarrow a+(b+(c+(d+e)))$ or $t \Rightarrow (a+b)+(c+(d+e)) \Rightarrow a+(b+(c+(d+e)))$. In either case, no further applications of the rule are possible. Similarly, the system could be applied to an open term: $((\alpha+\beta)+\gamma)+\delta \Rightarrow (\alpha+(\beta+\gamma))+\delta \Rightarrow \alpha+((\beta+\gamma)+\delta) \Rightarrow \alpha+(\beta+(\gamma+\delta))$. Obviously, any substitution of terms for variables in a derivation of open terms would give an equally valid derivation.

The property of term-rewriting systems that we deal with in this paper is termination. A term-rewriting system S terminates for a set of terms T if there exist no infinite sequences of terms $t_i \in T$ such that $t_1 \Rightarrow t_2 \Rightarrow t_3 \Rightarrow \dots$; conversely, a system is nonterminating if there exists any such infinite derivation. For example, the above reparenthesizing system terminates for all inputs. We shall assume that no left-hand side is just a variable; otherwise the system clearly would be nonterminating. For the same reason, the variables appearing in each right-hand side must be a subset of those in the corresponding left-hand side.

We consider several limitations on the form of the rules in the term-rewriting systems. These restrictions make it possible to restrict the class of possible derivations that must be considered when proving the termination or nontermination of the system.

A term t is said to overlap a term t' if t' can be unified with some (not necessarily proper) subterm s of t , i.e. if by substituting terms for the variables in t' and the variables in s the two can be made equal. (Whenever we speak of unifying two open terms, we consider their variables to be disjoint and insist that neither of the terms be just a variable.) We say that there is no overlap between two terms t and t' if neither t overlaps t' nor t' overlaps t . A term-rewriting system S is said to be non-overlapping (or "have no critical pairs", in the terminology of Knuth and Bendix [1969]) if there is no overlap among the left-hand sides of S , i.e. no left-hand side l_i overlaps a different left-hand side l_j and no proper subterm of a left-hand side l_i overlaps all of l_i .

A system is left-linear if no variable occurs more than once on the left-hand side of a rule; it is right-linear if no variable has more than one occurrence on the right-hand side. We say that a system is linear if it is both left- and right-linear.

For example, the linear system $\{(\alpha+\beta)+\gamma \rightarrow \alpha+(\beta+\gamma)\}$ is overlapping since $(\alpha+\beta)+\gamma$ is unifiable with $\alpha+\beta$. The system $\{\alpha \times (\beta+\gamma) \rightarrow (\alpha \times \beta) + (\alpha \times \gamma)\}$ is left-linear but not right-linear; the system $\{(\alpha \times \beta) + (\alpha \times \gamma) \rightarrow \alpha \times (\beta+\gamma)\}$ is right-linear but not left-linear. Both are non-overlapping.

In the next section we present sufficient methods of proving the termination of term-rewriting systems that are restricted in combinations of the above ways. It is important to note, though, that nontermination is not semi-decidable even if all three conditions are present. This follows from Huet and Lankford's [1978] simulation of a deterministic Turing machine by a non-overlapping and monadic (hence linear) term-rewriting system. In the last section we give sufficient criteria for the union of two terminating term-rewriting systems to be terminating.

Other investigations of some of these classes of systems may be found in Rosen [1973], O'Donnell [1977], Huet [1979], and Huet and Levy [1979]. For a survey of term-rewriting systems and their use, see Huet and Oppen [1980].

II. TERMINATION

In this section we show how derivations of open terms may be used in termination proofs for right-linear or non-overlapping left-linear systems. We first need the following definitions:

Definition: The active area of a term t_i in a derivation $t_1 \Rightarrow t_2 \Rightarrow \dots \Rightarrow t_i \Rightarrow \dots$ is that part of t_i that has been created by the nonvariable portions of the right-hand sides of the rules that have been applied. Only the outermost operator of the initial term t_1 is considered active. More precisely, if a (possibly non-left-linear) rule $\lambda[\bar{\alpha}] \rightarrow r[\bar{\alpha}]$ is applied to a term $t[\lambda[\bar{s}]]$ to obtain $t[r[\bar{s}]]$, then in the latter term all the operators in r are active if the outermost operator of $\lambda[\bar{s}]$ was active, those operators in t that were already active remain active, and the operators that were active in any of the previous occurrences of some s_i in $\lambda[\bar{s}]$ are active in each new occurrence of s_i in $r[\bar{s}]$. We say that a term is active if its outermost operator is and we identify active operators or terms by underlining them.

Example: In the following derivations for the system

$$\{ (a+b)+\gamma \rightarrow a+(b+\gamma), (a+a) \rightarrow a \}$$

applied to the term

$$t = (((a+b)+c) + ((a+b)+c)),$$

the active operators have been underlined:

$$\begin{aligned} t &\Rightarrow ((a+b)+c) \Rightarrow (a+(b+c)); \\ t &\Rightarrow ((a+b) + \underline{c} + ((a+b)+c)) \Rightarrow (a + \underline{b} + (\underline{c} + ((a+b)+c))) \Rightarrow (a + \underline{b} + (\underline{c} + (a+(b+c)))); \\ t &\Rightarrow ((a+(b+c)) + ((a+b)+c)) \Rightarrow ((a + \underline{b} + c) + (a+(b+c))) \Rightarrow (a + \underline{b} + c); \\ t &\Rightarrow (((a+b)+c) + (a+(b+c))) \Rightarrow ((a+(b+c)) + (a+(b+c))) \\ &\Rightarrow (a + \underline{b} + (b+c) + (a+(b+c))) \Rightarrow (a + \underline{b} + (\underline{c} + (a+(b+c)))). \end{aligned}$$

Definition: A chain $c_1 \Rightarrow c_2 \Rightarrow \dots \Rightarrow c_i \Rightarrow \dots$ of open terms is a derivation in which rules are applied only in the active region of terms. Furthermore, the derivation must be minimal in the sense that it is not an instance of any other chain. (Two chains are considered equal if they can be obtained one from the other by variable renaming.)

Example: Consider the system

$$\{ -(a+b) \rightarrow -(a+b), --a \rightarrow a \}.$$

The derivation

$$\underline{-(a+b) + \gamma} \Rightarrow \underline{-(a+b)} + \underline{\gamma} \Rightarrow (\underline{-(a+b)} + \underline{\gamma}) \Rightarrow (\underline{-(a+b)} + \underline{\gamma}) \Rightarrow (\underline{-(a+b)} + \underline{\gamma})$$

is a chain for that system; the derivations $\underline{-(a+b)} \Rightarrow \underline{-(a+b)}$ and $\underline{-(a+b)} \Rightarrow \underline{-(a+b)}$ are not.

The set of all chains for a given term-rewriting system S is denoted $Ch(S)$. To inductively generate $Ch(S)$, begin with all possible derivations issuing from the left-hand sides of the rules. If a left-hand side $\lambda_i[\bar{\alpha}]$ is unifiable with a (nonvariable) subterm $v[\bar{\beta}]$ of the last term c_n in any chain $c_1[\bar{\beta}] \Rightarrow c_2[\bar{\beta}] \Rightarrow \dots \Rightarrow c_n[\bar{\beta}]$ already included in $Ch(S)$, then all derivations beginning $c_1[\bar{s}] \Rightarrow c_2[\bar{s}] \Rightarrow \dots \Rightarrow c_n[\bar{s}] \Rightarrow u[r_i[\bar{\alpha}]] \Rightarrow \dots$, are also included in $Ch(S)$, where $c_n[\bar{\beta}] = u[v[\bar{\beta}]]$ and \bar{s} are the most general (i.e. least defined) open terms such that $v[\bar{s}]$ is an instance of $\lambda_i[\bar{\alpha}]$. This procedure is related to "narrowing", as defined in Slagle [1974].

Example: The term-rewriting system

$$\{ f(a, g\beta) \rightarrow gf(g\beta, a) \}$$

has two chains:

$$f(a, g\beta) \Rightarrow gf(g\beta, a)$$

and

$$f(g\beta, g\beta) \Rightarrow gf(g\beta, g\beta) \Rightarrow ggf(g\beta, g\beta) \Rightarrow \dots$$

Example:

$$Ch(\{ f f \alpha \rightarrow f \alpha \}) = \{ f^{i+1} \alpha \Rightarrow f^i \alpha \Rightarrow \dots \Rightarrow f \alpha \mid i \geq 1 \}.$$

Observation: In general a term-rewriting system need not terminate even if all its chains do. For example, the non-right-linear and overlapping system

$$\{ f(a,b,\alpha) \rightarrow f(\alpha,\alpha,b), b \rightarrow a \}$$

has two finite chains:

$$f(a,b,\alpha) \Rightarrow f(\alpha,\alpha,b) \Rightarrow f(\alpha,\alpha,\alpha)$$

and

$$b \Rightarrow a.$$

Nevertheless, the system does not terminate. To wit,

$$f(a,b,b) \Rightarrow f(b,b,b) \Rightarrow f(a,b,b).$$

Similarly, the system

$$\{ f(a,b,\alpha,\alpha) \rightarrow f(\alpha,\alpha,b,b), b \rightarrow a \}$$

does not terminate though its chains do.

Theorem: A right-linear term-rewriting system terminates if and only if it has no infinite chains.

Example: The term-rewriting system

$$\{ fha \rightarrow fgha \},$$

over terms constructed from integers and the unary operators f , g , and h , is right-linear and has only one chain:

$$fha \Rightarrow fgha.$$

Since this chain is finite, the system must terminate. The termination of this system could not be proved using "simplification orderings" nor with any "monotonic" well-ordering (see Dershowitz [1979]).

Example: $\text{Ch}(\{fg\alpha \rightarrow ggfa\}) = \{ fgg^i\alpha \Rightarrow ggfg^i\alpha \Rightarrow \dots \Rightarrow g^{2i}f\alpha \mid i > 0 \}$. Since the system is right-linear and all its chains are finite, by the theorem, it must terminate for all inputs.

Example: $\text{Ch}(\{fg\alpha \rightarrow ggffa\})$ contains $fg\alpha \Rightarrow ggffa$ and the infinite chains $fgg^i\alpha \Rightarrow ggffg^i\alpha \Rightarrow ggfggffg^i\alpha \Rightarrow \dots$ for all $i > 0$. Thus, the system does not terminate.

Proof: If the system has an infinite chain, then clearly it has an infinite derivation. For the converse, we show that if a system has an infinite derivation, then there is a similar derivation that contains an instance of some infinite chain.

Consider an infinite derivation $t_1 \Rightarrow t_2 \Rightarrow \dots$. There must be some (not necessarily proper) subterm s_1 of t_1 that initiates an infinite derivation $s_1 \Rightarrow s_2 \Rightarrow \dots \Rightarrow s_i \Rightarrow s_{i+1} \Rightarrow \dots$ itself, while no proper subterm of s_1 initiates such an infinite derivation. It follows that a rule is applied to the outermost operator of some s_i in that derivation.

On account of right-linearity, applying a rule at an active operator cannot create any new inactive operators. Thus, in the infinite derivation $s_1 \Rightarrow s_2 \Rightarrow \dots$ there are only a finite number of rule applications at inactive

operators (each proper subterm of s_1 can initiate only a finite derivation). Those inactive applications can be pushed back to the beginning of the derivation, since if $\underline{s}[r, \dots, r] \Rightarrow_a \underline{s}'[r] \Rightarrow_1 \underline{s}'[r']$, then that part of the derivation could be replaced with $\underline{s}[r, \dots, r] \Rightarrow_1 \dots \Rightarrow_1 \underline{s}[r', \dots, r'] \Rightarrow_a \underline{s}'[r']$, where \Rightarrow_a and \Rightarrow_1 denote applications at active and inactive operators, respectively. That is the case because the r in $\underline{s}'[r]$ is inactive, which means that it is not part of s' and could only have influenced the derivation $\underline{s}[r, \dots, r] \Rightarrow_a \underline{s}'[r]$ by being matched with other subterms in a non-left-linear rule that rewrites $s[\alpha, \dots, \alpha]$ to $s'[\alpha]$. But if all the corresponding occurrences of r in the other subterms matching α are also rewritten, then $\underline{s}[r', \dots, r'] \Rightarrow_a \underline{s}'[r']$ as well. (An active application cannot be below an inactive operator, while if the two applications are not nested, they clearly can be reordered.) After a finite number of such reorderings, from some point on in the reordered infinite derivation there are only active applications. By definition, a derivation with only active applications must be an instance of a chain. \square

Example: Consider the system

$$\{ g\alpha \rightarrow h\alpha, f(\alpha, \alpha) \rightarrow f(a, \alpha), b \rightarrow a, a \rightarrow b \}$$

and the infinite derivation

$$gf(b, a) \Rightarrow hf(b, a) \Rightarrow hf(b, b) \Rightarrow hf(a, b) \Rightarrow hf(a, a) \Rightarrow hf(a, a) \Rightarrow \dots$$

The subterm $f(b, a)$ of $gf(b, a)$ initiates the infinite derivation

$$\underline{f}(b, a) \Rightarrow_1 \underline{f}(b, b) \Rightarrow_a \underline{f}(a, b) \Rightarrow_1 \underline{f}(a, a) \Rightarrow_a \underline{f}(a, a) \Rightarrow \dots$$

Reordering yields

$$\underline{f}(b, a) \Rightarrow_1 \underline{f}(b, b) \Rightarrow_1 \underline{f}(b, a) \Rightarrow_1 \underline{f}(a, a) \Rightarrow_a \underline{f}(a, a) \Rightarrow_a \underline{f}(a, a) \Rightarrow \dots$$

which contains an instance of the chain

$$\underline{f}(a, a) \Rightarrow_a \underline{f}(a, a) \Rightarrow \dots$$

Theorem: A non-overlapping left-linear term-rewriting system terminates if and only if it has no infinite chains.

Example: None of the chains of the non-overlapping left-linear system

$$\{ Dx \rightarrow 1, Dy \rightarrow 0, D(\alpha + \beta) \rightarrow (D\alpha + D\beta), D(\alpha \times \beta) \rightarrow ((\beta \times D\alpha) + (\alpha \times D\beta)), \alpha + \alpha \rightarrow 2 \times \alpha \}$$

for differentiation with respect to x have nested D operators. (This can be shown by induction.) Thus, the finiteness of those chains — and consequently the termination of the system — can be easily proved by considering the multiset of the sizes of the arguments of the D 's. Any rule application reduces that value under the multiset ordering defined in Dershowitz and Manna [1979].

Proof: The proof is similar to the previous one. Let $s_1 \Rightarrow_a s_2 \Rightarrow \dots$ be an infinite derivation such that no proper subterm of s_1 initiates an infinite derivation itself. Applications at inactive operators can be pushed back in the following manner: if $\underline{s}[r] \Rightarrow_a \underline{s}'[r, \dots, r] \Rightarrow_1 \underline{s}'[r', \dots, r'] \Rightarrow \dots$ is infinite, then $\underline{s}[r] \Rightarrow_1 \underline{s}[r'] \Rightarrow_a \underline{s}'[r', \dots, r'] \Rightarrow \dots$ is also infinite. This is the case since no subsequent rule application above r can depend on r on account of the left-linear and non-overlapping conditions. This pushing back can only be done a finite number of

times, since there is no infinite derivation $r \Rightarrow r' \Rightarrow \dots$. \square

Conjecture: A non-overlapping term-rewriting system terminates if and only if it has no infinite chains. In this case, the reordered derivation may require additional applications of $r \Rightarrow r'$ to ensure that subterms match for a subsequent application of a non-left-linear rule.

The two theorems give necessary and sufficient conditions for a right-linear or non-overlapping left-linear system to terminate. One of the advantages in using chains is that nontermination is more easily detectable, as the next theorem will demonstrate.

Definition: A chain $c_1 \Rightarrow c_2 \Rightarrow \dots \Rightarrow c_i \Rightarrow \dots$ cycles if for some $i > 1$ c_i has a subterm that is an instance of c_1 .

Example: The chain

$$\begin{aligned} & -((\alpha|\beta)|\gamma) \Rightarrow ((--(\alpha|\beta)|--\gamma)|(--(\alpha|\beta)|--\gamma)) \\ \Rightarrow & ((--((--\alpha|--\beta)|(--\alpha|--\beta))|--\gamma)|(--(\alpha|\beta)|--\gamma)) \Rightarrow \dots \end{aligned}$$

cycles, since $--((--\alpha|--\beta)|(--\alpha|--\beta))$ is an instance of $--((\alpha|\beta)|\gamma)$.

Theorem: A right-linear or non-overlapping left-linear term-rewriting system is nonterminating if and only if it has infinitely many noncycling infinite chains or it has a cycling chain.

Example: The system (for the Sheffer stroke) consisting of the non-overlapping left-linear rule

$$-(\alpha|\beta) \rightarrow ((--\alpha|--\beta)|(--\alpha|--\beta))$$

has the cycling chain illustrated above.

Example: The system

$$\{ fg\alpha \rightarrow fh\alpha, hg\alpha \rightarrow gh\alpha, ha \rightarrow gga \}$$

is linear and non-overlapping. Its chains are all of one of the following forms:

$$\begin{aligned} & fgg^i\alpha \Rightarrow fhg^i\alpha \Rightarrow \dots \Rightarrow fg^i h\alpha \\ & fgg^i a \Rightarrow fhg^i a \Rightarrow \dots \Rightarrow fg^i h a \Rightarrow fg^i gga \Rightarrow \dots \\ & \quad hg^i\alpha \Rightarrow \dots \Rightarrow g^i h\alpha \\ & \quad hg^i a \Rightarrow \dots \Rightarrow g^i h a \Rightarrow g^i gga. \end{aligned}$$

Though none of these chains cycle, those of the second type are infinite.

Proof: The "if" direction is trivial. For the converse, let $c_1 \Rightarrow c_2 \Rightarrow \dots$ be an infinite chain and consider the infinite derivation $c_2 \Rightarrow c_3 \Rightarrow \dots$. By the previous theorems, there is some subterm of a c_i , $i > 2$, that is an instance of the first term in some chain. (In the previous proofs, the subterm $s[r, \dots, r]$ of a derivation and the term $s[r', \dots, r']$ of the reordered derivation are both instances of a term $s[\alpha, \dots, \alpha]$ in a chain.) Thus, if there are only finitely many infinite chains, one of them must cycle. \square

Corollary: The termination of a right-linear or non-overlapping left-linear term-rewriting system is decidable if the number of chains issuing from different initial terms is finite.

Proof: To decide termination, generate all chains until either one cycles or all terminate. \square

Example: The non-overlapping left-linear system

$$\{ f(a, \alpha) \rightarrow f(\alpha, g(\alpha)), g(a) \rightarrow a \}$$

has three chains:

$$\begin{aligned} g(a) &\Rightarrow a, \\ f(a, \alpha) &\Rightarrow f(\alpha, g(\alpha)), \\ f(a, a) &\Rightarrow f(a, g(a)) \Rightarrow f(a, a) \Rightarrow \dots \end{aligned}$$

Since its third chain cycles, it does not terminate. On the other hand, the system

$$\{ f(a, \alpha) \rightarrow f(\alpha, g(\alpha)), g(a) \rightarrow b \}$$

has the chains:

$$\begin{aligned} g(a) &\Rightarrow b, \\ f(a, \alpha) &\Rightarrow f(\alpha, g(\alpha)), \\ f(a, a) &\Rightarrow f(a, g(a)) \Rightarrow f(a, b) \Rightarrow f(b, g(b)). \end{aligned}$$

Since none of its three chains cycles, it does terminate.

Note: Even if the set of chains is infinite the above theorems can be used to constrain the form of terms that must be considered in a termination proof. For example, the right-linear system $\{-(\alpha+\beta) \rightarrow (-\alpha+\beta), --\alpha \rightarrow \alpha\}$ has a chain $--\alpha \Rightarrow \alpha$ and all chains of the form $-\Sigma \sim \alpha_1 \Rightarrow \dots \Rightarrow \Sigma \sim \alpha_1$, where Σs_1 denotes any summation of two or more summands s_1 , $\sim \alpha$ denotes either α or $-\alpha$, and $--\alpha$ is $-\alpha$ or α , respectively. Since chains cannot begin with a term having a minus other than for the outermost or innermost operator, the termination of all chains can be easily proved using a multiset ordering on the sizes of the arguments to the minuses.

Corollary: The termination of a term-rewriting system containing no variables on the right-hand sides is decidable.

Proof: Since there are no variables on the right-hand sides, the system is obviously right-linear. Furthermore, without variables all chains must issue from the rules themselves; thus there can only be as many chains with different initial terms as there are rules. \square

Example: $\text{Ch}\{\{f(\alpha, \alpha) \rightarrow f(a, b), b \rightarrow c\}\} = \{b \Rightarrow c, f(\alpha, \alpha) \Rightarrow f(a, b) \Rightarrow f(a, c)\}$. Since the chains do not cycle, the system terminates.

Example: $\text{Ch}\{\{f(\alpha, \alpha) \rightarrow f(a, b), b \rightarrow a, b \rightarrow c\}\}$ consists of the two finite chains $b \Rightarrow a$ and $b \Rightarrow c$, the infinite cycling chain $f(\alpha, \alpha) \Rightarrow f(a, b) \Rightarrow f(a, a) \Rightarrow \dots$, and an infinite number of finite chains $f(\alpha, \alpha) \Rightarrow f(a, b) \Rightarrow f(a, a) \Rightarrow \dots \Rightarrow f(a, b) \Rightarrow f(a, c)$ with the same initial term.

Corollary (Huet and Lankford [1978]): The termination of a term-rewriting system containing no variables (a ground system) is decidable.

III. COMBINED SYSTEMS

In this section we consider the termination of combinations of term-rewriting systems. If R and S are two terminating systems, we wish to know under what conditions the system $R+S$, containing all the rules of both R and S , also terminates.

Theorem: Let R and S be two terminating term-rewriting systems over some set of terms T . If R is left-linear, S is right-linear, and there is no overlap between left-hand sides of R and right-hand sides of S , then the combined system $R+S$ also terminates.

Example: $R = \{\alpha \times (\beta + \gamma) \mapsto (\alpha \times \beta) + (\alpha \times \gamma)\}$ and $S = \{(\alpha \times \alpha) \mapsto \alpha, (\alpha + \alpha) \mapsto \alpha\}$ each terminate; therefore $R+S$ also does.

Proof: Assume that $R+S$ is nonterminating and consider an infinite derivation $t_1 \xrightarrow{R+S} t_2 \xrightarrow{R+S} \dots$. Were there only a finite number of applications of R in that derivation, then from some point on there would be an infinite derivation for S alone, contradicting the given fact that S terminates. So we may assume that the derivation contains an infinite number of applications of R . We show that those applications of R can be pushed back to the beginning of the derivation, i.e. that if $t \xrightarrow{S} t' \xrightarrow{R} t''$, then $t \xrightarrow{R} t''' \xrightarrow{R+S} \dots \xrightarrow{R+S} t''$. Thus, were there a derivation for $R+S$ with an infinite number of applications of R , then there would also be an infinite derivation for R alone.

We must consider two cases. In the first case, the application of R is below the application of S . On account of the right-linearity of S and the fact that no right-hand side of S overlaps a left-hand side of R , the two applications must be of the form $s[r, \dots, r] \xrightarrow{S} s'[r] \xrightarrow{R} s'[r']$. But then $s[r, \dots, r] \xrightarrow{R} s[r', \dots, r'] \xrightarrow{R} \dots \xrightarrow{R} s[r', \dots, r'] \xrightarrow{S} s'[r']$ would also be a possible derivation, since the derivation $s[r, \dots, r] \xrightarrow{S} s'[r]$ could not have depended on the form of r , or else s' would overlap r in $s[r, \dots, r] \xrightarrow{S} s'[r]$.

In the second case the application of R is above that of S . On account of the left-linearity of R and the fact that no left-hand side of R overlaps a right-hand side of S , the two applications must be of the form $r[s] \xrightarrow{S} r[s'] \xrightarrow{R} r'[s', \dots, s']$. But then $r[s] \xrightarrow{R} r'[s, \dots, s] \xrightarrow{S} \dots \xrightarrow{S} r'[s', \dots, s']$ would also be a possible derivation, since r does not overlap s' . \square

Observation: Each of the three requirements of the above theorem is necessary, as evidenced by the following nonterminating systems R+S:

$$\{f(\alpha, \alpha) \rightarrow f(a, b)\} + \{b \rightarrow a\}$$

has the infinite derivation $f(a, a) \Rightarrow f(a, b) \Rightarrow f(a, a) \Rightarrow \dots$, though both R and S terminate, R is right-linear, S is linear, and there is no overlap (but R is not left-linear).

$$\{b \rightarrow a\} + \{f(a, b, \alpha) \rightarrow f(\alpha, \alpha, \alpha)\}$$

has the infinite derivation $f(a, b, b) \Rightarrow f(b, b, b) \Rightarrow f(a, b, b) \Rightarrow \dots$, though both R and S terminate, R is linear, S is left-linear, and there is no overlap (but S is not right-linear).

$$\{b \rightarrow ga\} + \{a \rightarrow gb\}$$

has the infinite derivation $b \Rightarrow ga \Rightarrow ggb \Rightarrow \dots$, though both R and S terminate and both are linear (but there is overlap).

ACKNOWLEDGEMENT

The results reported here grew out of conversations with Gérard Huet, Sam Kamin, and Jean-Jacques Levy at INRIA, to whom I am most grateful. This work was motivated by conjectures posed by Dallas Lankford and David Musser.

REFERENCES

- Dershowitz, N. [1979], A note on simplification orderings, Information Processing Letters, vol. 9, no. 5, pp. 212-215.
- Dershowitz, N. and Manna, Z. [Aug. 1979], Proving termination with multiset orderings, CACM, vol. 22, no. 8, pp. 465-476.
- Huet, G. [Oct. 1980], Confluent reductions: Abstract properties and applications to term rewriting systems, J. ACM, vol. 27, no. 4, pp. 797-821.
- Huet, G. and Lankford, D.S. [Mar. 1978], On the uniform halting problem for term rewriting systems, Rapport laboria 283, INRIA, Le Chesnay, France.
- Huet, G. and Levy, J.-J. [Aug. 1979], Call by need computations in non-ambiguous linear term rewriting systems, Rapport laboria 359, INRIA, Le Chesnay, France; to appear.
- Huet, G. and Oppen, D.C. [1980], Equations and rewrite rules: A survey, in "Formal Languages: Perspectives and Open Problems" (R. Book, ed.), Academic Press, New York.
- Knuth, D.E. and Bendix, P.B. [1969], Simple word problems in universal algebras, in "Computational Problems in Universal Algebras" (J. Leech, ed.), Pergamon Press, Oxford, pp. 263-297.
- O'Donnell, M. [1977], Computing in systems described by equations, Lecture Notes in Computer Science, vol. 58, Springer Verlag, Berlin.
- Rosen, B.K. [1973], Tree-manipulation systems and Church-Rosser theorems, J. ACM, vol. 20, pp. 160-187.
- Slagle, J.R. [Oct. 1974], Automated theorem-proving for theories with simplifiers, commutativity, and associativity, J. ACM, vol. 21, no. 4, pp. 622-642.